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PAPER CODE - 8192
12" CLASS - 12019

MATHEMATICS : : TIME: 30 MINUTES
GROUP SECOND OBJECTIVE, MARKS: 20
NOTE: You have four choices for each objective type questionas A, B, C and D . The choice which

you think is correct , fill that circle in front of that question number. Use marker or pen to fill

The circles. Curting or filling two or more circles will result in zero mark in that question.
QUESTION NO. 1

(1)  Thearea of a circle of unit radius is nearly

* (A) 3.1 (B) 3.14 (C) 3.142 D) ;
limit R
@ n— oo (i_ﬁ) =
@we @ 3 (© = o ;
3. limit  fla+h) =f(a)  _
h—0 h

(A) £(a) (B) f(a+h) (C) F{x) O f(a)
(@) ﬁ{mnh"x =

: 5 3 1
W ®F O 7T O%s
(5) The derivative of y =log} wi.rt.x Is
Lyt e fgm © % O xha
6) f(x)= (1+x)" , (0) will be
{A) O {(B) n cy 1 o n!
(M Jatdx, = _
A S ® (© lnaa* @ 0
@® JT sinxdx =
A0t B . @ @ F
@ Rt -
(A) x*-2a> (B) ¢ ©e-2 - @ 4§
(10) The order of X L3+ 2 _3x=0 s
(Ao (B) -3 ©) 1t (D) 2

(11)  The non-negative constrains are called )
{A) Decision Variables {B) Feasibié'Sphutigh set (C) Optimal Solation {D)Associated Equation
(12) Equation of a non vertical line with slope m ‘and y intercept zero is

(A)y=x (B) y = mx (Chy=mx+c (D) y=0
(13) Thelines ax’ + 2hxy + by? =0 willbe parallel if

(A) W*<ab (B) W’ =db (C) h*>ab (D)atb=2
(14) The centriod of the tridngle A ABC with vertices A(0,0), B(1,0), C(3.4) is

v B 4

(A) (0,0 IR © @2 O G.3

(15) Thedistancesef theline 2x—5y+13=0 from the point (0, 0) is
12

(A) g " (B) 10 © 4 ™ =
(16) - The fadfus of the circle X° +yP +4x-6y-3=0

Aa) % - (B)10 < 4 (o) 6
(17) x.y=1. represents

(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
(18) A solution of the inequality x+ 2y <6 is

(A) (1, 1) () 4,4 (Cy (6,2) o) (54
(19)" Aforee F isappliedatan angle of measure = with the displacement vector ¢ . ‘The work done will be

(A) F xT (B) = (c 0 (D) infinite
{20) * Thie projection af a vector b along 3 is .
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GROUP SECOND : SUBJECTIVE MARKS 80
SECTION-I
QUESTION NO.2_Write short answers any Eight (8) questions of the fn]lowmg - 16
1 _{ Define odd and even functions.
2 {Find £'(x) if flx)= 3 + 7
3 Byiliate lim  sinx
X =T =X |
4 |Find & if y = (Vx - &
5 |Find £ if xy+y?=2
6 ! Differentiate xsec 4x wrt “x".
7 |FindZ if y = In(x+VREFT)
8 |Find wif x- y’=
9 | Define stationary point.
P10 Find E , if y=tan b (sinx)
i 11 | Find extreme values for f(x)= x*—x -2
{3 2 H
12 Prove that e® = 1+ 2x =+ 57:? ST by Maclauren Series expansion |
L
QUESTION NO, 3 Write short answers any Eight (8) questions of the following 16

L | Find dy for yvx whcn x changes from 4 to 4.41
Using differentials f'ru:i for x* + y* = xy*

J-cos 2%
l+cosZx

T F{J“"l)

‘Evaluate dv, y=0

sc:zx

e

16 [vEvaluate,, [ xtan®x dx.

| 7 | Evaluate.. [ x%Inx dx

§ | Evaluate [ e *({cosx — sinx) dx

9 | Evaluate faﬁ’r“ secx (sec x + tanx) dx
10| Evaluate f_ll (x+%}\!xz+x+1 dx

11 | Define order of a differential equatién.
12 | Graph the solution set of linear inequality 3x - 2y = 6

2
3 jEvaluate |
4
5

Evaluate

QUESTION NO. 4. Write short ansWers any Nine (9) questions of the following 18
1 | Show that the lines 2x+v -3 = 0"and 4x + 2y +5 = 0 arc paralle],

t Transform the equatioft 5%~ 12y +39 =0 into nonmal form.

Check whether theipoint P(5,-8) lies above or below the line 3x + 7 y +15 = 0
{ Find the distance Between the points A (3, 1), B(-2, -4) .

* i Find the ceffre and tadius of the circle 4x* + 4y* - 8x + 12 y-25u=0
Find(the focus and the vertex of the parabola x” = 5y '

| Find th€'point of intersection of the conics x*+y* =8 and X' -y = |

.1, Find anequation of hyperbola with foci (0,26 ), e=2.

Find a unit vector in the direction of ¥V = | +2j - k
Fmda vector perpendicularto a= i+ and b=} -J

If{ 21—]‘.+k and ¥ =.i+]then find UV

b=l Bt IR = R IS ) S

—
L=

I Define scalar riple product.
I U=2i+3j+k . V=4i+6+2k thenfind |U+ 2V ] {

vt ]
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(P.T.O)



_— — —_ —_— e —— .

-

Note: Aftempt any _‘I‘hr';e_e questions from this section i = .Ii];r. 3=30

Libd

Q.5-(A) | Find tlhe graphical solution of the equarion X = sin 2x

x X ¥

L (B) -:\Shﬁwthat %n o gyt X .

J Q'G-(‘A). FIHd‘ J'-.;al - x2 dx

(B) ; fhxee'minm A(7,-1), B (-2, 2) and (1,1) are consecutive vertices uﬁﬂ'arallellugram_: —
Find the fourth vertex &

Q.7-(A) | Solve the differential equation (y - x -f'—‘x“' ) =2(y¥ % }

('B)- Graph the feasible region and find the comer points
X+3y =15, 2);-!-}'512.::_3_'0, yz0

. * O

bhzdb&_“'&fhé!hcr the lines 4x-3y-8=0;3x ~dy-6=0andx—y-2 w(m:rmt

Ifso., find the point where they meet

‘ (B) Find the equations of tangents drawn from point (0, 5) to thedi l@’ =16

s LLES

ey i e A [ )
l Q.9-(A) iShowthat an equation of parabola with focus at (a , & sin &) and
directrix xcosa+ysina+a=0 i
(xsing - yeosa )Y =4da(xcosa+ysina




